ationalist lalen earc
TIET- ATeE Fe5: 3 AT 30 FfR S RELIEED)

Xamination-

TYTHEAT- 8140 TUT-300

%) 3Miheha AT ek IV AT ST et ?

37 )aeiieam SIS E)EIREL &)X g ) Hae
1)  Which sailor had discoverd the southern cap of Africa ?

a) Bartholomew Daiz b) Colombus c¢) Peter Abelai d) John Kuwait
R) AT SIS Al

) o)

%) TR Uy 3) 3.9, 2¥40

R) THfER=T MY §) I TP

3) TasiTel-g-fogeht %) hicieH

¥) DU AT SN B EICECAIERCEEA

) ¢-d, 3-%h, 3-8, ¥-3H

®) -8, -, 3-3A, ¥-d
2) Match the proper pairs:

A)

1) Protestant Creed

2) Discovery of America

3) Leonardo-d-Vhinsi

4) Discovery of Printing Machine

) -3, -9, 3-%, ¥-%
g) 2-9, R-8, 3-31, ¥-%

B)
a) 1450 AD

b) Martin Luther
¢) Colombus

d) Artist in Awakening era

a) 1-b, 2-c, 3-d4-a D) l-a, 2-b, 3-¢c, 4-d
c) 1-d, 2-c, 3-a,4-b d)I1-b, 2-d, 3-a, 4-c
3) ‘ar ufafaeht a1 & € wwon sroft foeft ?
37) IPE HidpRS &) Hd HidIHRh &) DT Hidhish  §) SR @RI
3) Who has given the slogan 'No representation no taxation' ?
a) Rashian Revolutionary  b) French Revolutionary
¢) American Revolutionary d) Amarican Residents
¥) TS SHiEhdId qfgell S@Tgd hivrd! 7
31) Shgehl E) S RIED %) ITATERT g) Sfsifa
4) Which is the first settlement of England in America?
a) Kentuki b) New York c) Alaska d) Virginia

) e TSTshIdIe Taid HewaTe iRl Shivd ?

) I F ANNHS goied &) §F d WIEAS FEER ) Tad TSR §hIS  S) HIHIS T

5) What is the most important reason of the French Revolution?

a) Negligance towards farming and Trading

b) Corruption in army and government

¢) freqent draugts

d) Social discremination

&) SIS T A@Tsd aTaTeA Weierdsh] shivreal TATae fhal et 8id 7
37) i I ¥) X iy %) gfeRme-3g-grem T) YEHASEH
6) Which captain of Nawab was made traitorous by the britishers in the battel of Plashi?

a) Mir Jafar b) Mir Kasim c) Ityad-ud-daula
W) YRATd dfgelt ®e fireft —-- Jmadf --- =
) YUY, TEHSETE &) $¢Y40, HicThdl ) LL¥0, THRE

7) India's first cloth mill was started in ---- at ---.
a) 1855, Ahamadabadb) 1850, Kolkata c) 1840, Banaras

d) Sahanawajkhan

ToehTolt g% e

g) 2¢43, 4

d) 1853, Mumbai




¢) TR &A1 GJ HI0A ha ?
) AhHH  F) TNE ) 3Hd Hal  8) @
8) Commissioner Rand was killed by------
a) Chaphekar ~ b) Rajguru  c¢) Anant Kanhere d) Sukhadeo
R) ufte STERATHT SHIVTEAT Teg-R—-SI e JfHeg el ?
) |ie Hi F) dte fofed %) TS SHH g) @t =
9) Which governer general declared Queen's Proclemationp’
a) Lord Canning b) Lord Litten c¢) Lord Duffrin  d) Lord Ripen
20) HIcTEl 3TEHGGT A WATATh! HIVICAT TAWHTIA AT SUSTTToRIE Iarareh Jwon faeft 7
) JeAEE ) I h) HENIY g) UgierEs
10) In which among the following division did Maualvi Ahamadulla inspire people against British?
a) Bundelkhand b) Bengal c) Maharashtrad) Rohilkhand
9.3 ) AT THTSTEReRT=AT A e1fiieh FETUMIU SATIeIHh FIedT BRI ———
3T) IR 9 GTfiieh UM AT Hleh Fogdl.
q) guEEAhs M THT BT
%) GHECITAT AISSATIIETT I GUROT I Togedl.
g) |MIieh I YT 9 WA GTfieh shed-iel IR gical.
11) According to the Social Reformers in India religious improvement should be must because ----
a) Social and religious improvement aren't differnt.
b) Religious institutions had lot of money.
¢) Without the support of religious institution social improvements are not possible.
d) Socially bad customs and traditions are dependant upon the religious concepts.
9R) Hft gEy gern & vy I fafgen?
) ieEEE o 9) dNER B %) dfedl Wes ) BIfHT 3G
12) Who had written the book 'Stree Purus Samanta'?
a) Savitribai Phule  b) Tarabai Shinde c¢) Pandita Ramabai  d) Fatima Shaikh
%3) Wefictdeh! ShivrdT T HeTedT Fol A fergren Amh ?
) TAMAR §) S TS %) "EaHe qavd ) feow 3 faggem
13) Which among the following book is not written by Mahatma Phule?
a) Gulamgiri b) Shetkaryancha Asud c) Sarwajanik Satyadharmd) Riddles in Hinduism
9% TETeHT e TemrgTen arR qauey wivren foshroft e ?
) QAU AMpRT W) STEHGETG %) Hag T) IFAREG
14) Where did Mahatma Gandhi first of all made use of Satyagraha?
a) South Africa b) Ahamadabad c¢) Mumbai  d) Alahabad
%4) WTeATel BT HIATIhH ATaT ?
¢) HiemR I TR FRE Q) arel A 3) ufeeht Mems afwg ¥) St farer
) R,%,3,¥  9) 2,3,3,¥%) ¥,3,2,2  ©) 3,¥,3,%
15) Arrange the chronological sequence.
1) Marshl law of Solapur. 2) Dandi Yatra 3) First Round Table Conference 4) Caste Judgement
a)2,1,3,4 b) 1,2,2,4 ¢)4,3,2,1 d) 3,4,2,1
28 ) e -3 R Eefierdeh! v feasft e ?
H) 4 AME 2%3% W) 20 90 2R3 F) 4 UD 2R3 3) 24 Y. 2133
16) On which date the Gandhi- Irwin Pact was made ?
a) 5 March 1931 b) 10 June 1932 c¢) 5 April 1931  d) 15 Feb. 1932

N
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3L) forea firsres sivren afg=ma arard e ?
) AT LR¥R) YA ¢R¥L  H) AR R¥% B) fEH 3’¥R
17) When did Crisp Mishan come in India?
a) March 1942  b) April 1941 c) November 1941  d) Dec. 1942
%¢) HThI e TEUNS H1H ?
3T) IR ATET=A] TH Hoe-AH TEodl e §) T st v
%) HThI IY JTFEHR TATIT HOIT TIA  §) HIhH Tod WM Teddicd @i Jeudr=n Jaed

19) What do you mean by Kakori Conspiracy?
a) Conspiracy drawn by a secret organisation named Kakori
b) Underground Radio Station
¢) Try for the establishment of parallel government at Kakori
d) A train robbery at Kakori railway station
9R) M A= afe TR AT <hg, IV SOl Frd ?
37) 9reen §) QAT ) HTUThdTST g) framma
19) Where was the bomb making center of anushilan Samiti?
a) Patna b) Dhakka c) Maniktala d) Chitgaon
R0) TiHTIEHE AT STeqwal e Seaw 3t el ?
) UfER THEETt @) SiL3TR. 1He &) U AR §) Taama
20) Who had set the movement of the eradication of untouchbility in Tamilnadu?
a) Periyar Ramswamib) G.R. Abhyankar c¢) Kamraj Nayar d) C. V. Deshmukh
R%) IR = GTE Y@ Wiefiedeh! SHIvdt SAhl 3T ?
31) ST 9) UgTht ) TR S RIE
21) Who is suprime commander of the armed forces?
a) Commander-in-chief b) The President c) Defense Minister d) Home Minister
Q) AT Y MG YHOTH ORI HETT= 8esh  Shivral ?
31) wmiferes aftfeerd ¥) forfaa w9 SRy g

%) ALY IR T) Ih8 AHEH

22) Which important factors affect country's foreign policy?
a) Geographical situation b Written laws and efficient government
c) International Trade  d) Exellant canonization

23) AT S ATE.
H q

2. ARl fee ) 2R4Y

R. SE™ A E)RUESUERICRC L

3. AfTEAETE Jesacd= gear ) 2R&¢2

¥. =i O S RIEIERCERIE]

) -9, -8, 3-%, ¥-HA ¥) 2-§, -, 3-9, ¥-H

%) ¢-31, -9, 3-%, ¥-S g) ¢-%, -8, 3-3, ¥-9
23) Match the pairs.

A B

1. Marsha Tito a) 1954

2. Bawame Nakhuma b) President of Yugoslavia

3. c) 1961

4. Panchasheel Tatve d) President of Ghana

a)l-b, 2-d, 3-c,4-a b)1-d, 2-c, 3-b, 4-a
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a)l-a, 2-b, 3-c,4d a)l-c, 2-d, 3-a, 4-b
RY) AT 3T o IAct TEAT WieAeTdeh! hid 38 ?
AR @I w) el ) I
24) Where is the International Food and Agricultural Organisation?
a) Delhi b) Rome c)Barlin d) Peking
RY) SR SATIR HeIe= TATIHT shivre af Fireft ?
;) 2’’Y ) 3R¢0  h) 2R ) 2RO
25) World Trade Organisation was founded in --- year.
a) 1995 b) 1982¢) 1985  d) 1970
R€) T SHIAIRRY =T IR —— 7 TAFAHTGR STl el ?
) ATENfh TAAE &) THM qIFH ) HY GHFE ) ATEgh dATH
26) ---- technology had laid foundation for the new revolutionary era.
a) Industrial technology b) space technology
c) agricultural technology  d) transport technology
Q) WRATET IfEel HEH ITUE HIvwm ?
) FTHSRY W) A F) AqEWg ) Tl
27) Which is the first satellite of India?
a) Insat2 A b) Apolo c) Aryabhatta d) Sputnik
R¢. TuHUAeEI-Ht ] B T IR 7
) AGHN IH  §) AU F) FOEW IWE  T) SRR FATIAST
28) What is PSLV-C-9?
a) space ship b) rocket c) artificial satellite  d) skylab
RR) 3.9. Q&R TEA WRATAT YETA TehT9IT iU AT hetl ?
37) IhS HEH ) FANSIG AWl F) Thet ) o F WA
29) Who prepared India's accurate map in 1769 AD?
a) Alfred Mehan b) Claudium Ptolemi c) Marcator  d) James Renel
30) TP ST AT T HRTAT hId AR ?
) ARG ) SEUGT ) hicThId ¥) BT
30) Where is the office of National Atlas of India?
a) Alahabad b) Deharadun c¢) Kolkata d) Hydrabad
3%) G S A —-- €GeS a7
H) FegI W) JTUEEl %) WSS ) AR
31) Secsan Lehman invented --- system.
a) Vhachuars b) Tag system C) d) rectangular
3R) -—— AT AT Je=A1 AT q@d ARH el
) It F) W UIS8E %) SSell W ) W, W
32) Who studied thourghly the interior part of earth?
a) Chamberlin  b) Prof. Pounds c¢) Dadly Stamp d) Prof. Swes
33) yumreA fordt e @iefier ¢ Afcqag qmuwE a6 ?
)R F) RWAF) ¥R A B) Yo "R
33) At what depth of the interior earth 1° celcious temprature increases?
a) 32 metres b) 22 metres c) 42 metres  d) 50 metres
3Y) SRA SATATgE! oI ——— T <M TR,
) YR &) SSHRMTR) gl ) fhefius—m

4=




34) Baran volcanic island is located in --- country.
a) India b) Indonesia c) Italy  c) Philipines
3Y) STt ShITCAT UoRE ST BUX 7 FEUTATd ?
) AfFashid BR 9) fsed R &) qEEEE TR §) A9fEH Y8R
35) Which plateau is known as worlds roof?
a) Mexico plateau  b) Tibet plateau c) Deccan plateau d) Saibarian plateau
38) T &1 -—- I TOTaNG ¥ SR
) TS o) JAYEECH) T ) WA
36 Diamond is obtained from ------ .
a) Limestome b) Anthracite c) Hemetite d) Pea
30) IR 3UTT --- Y Ak TSRS 1R,
) SeplETETg F) SER W) T g) SHEY
37) AT which place mechanical weathering is effective?
a) Jacobabad b) Banglore c¢) Ranchi d) Jamshedpur
3¢) AUl IYUE HIVCAT I TR ST ?
37) ¥ra ) WrT %) iR 8) B
38) Apollo satellite was launched in space by?
a) India b) Russia ¢) U.S.A. d) France
3R) U A T —-- A1 TEH I el 31Tz,
37) HITRE! )W W) Jan ) 999
39) ---- river has formed famous Grand Canean gorge.
a) Colorado b) Ganga c) Vaitarna  d) Thames
¥0) TAICH gHle HEHT TG BT ST 372 7
37) = ) YRd W) MR ®) uUW
40) In which country loess fertile soil is abundant ?
a) China b) India c¢) U.S.A. d) Japan
¥2) HERIETA hivre fegld dauredy ygaamd fiesdl ?
31) ITEHGTR §) TR &) TER g) AR
41) In which district of Maharashtra, stalactites an stalgnites are commonly observed?
a) Ahmednagar b) Akola c¢) Chandrapur  d) Nagpur
¥R) B T TEUIl I ?
A AR I 9) P I &) JTES ISW ) dTBae
42) What is karst region?
a) coastal region b) agricultural region c¢) limestone region  d) desert
¥3) IV AR R arEmriETdt Tfeg 3 ?
T frm 7)) fet %) e g) W fhm
43) Which coast is famous for fishing?
a) b) Rio ¢) Fiord d) Straight Coast
YY) ST TSATIA IHEETd ——— & ST Tgd ?
A) WA 9) el H) MST §) AWM
44) Which tribes live in the forest of Chhatisgad State?
a) Santhal  b) Todas c¢) Gonds d) Nagas
¥4 SSUASA! ATET 7Y H 7
37) STfaeh 9ie TEe ) Wik dTageh oS
%) STk SFABH FoeAT ) SATfeh AR TEeAT
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45) What is the meaning of WHO?

a) World Tourist Organisation b) World Transpot Organisation
c¢) World Telephone Organisation d) World Trade Organisation
¥&) goran gehq X fehclt aft gediar femar ?

37) €0 NIt ¥) €8 AUl W) w0 Iui g) g aui
46) After how many years is the Halley's Comet seen on the earth?

a) 60 years b) 66 yearsc) 70 years  d) 76 years
¥\) TG Gy a%q fuaT= J& HRel shivrd ?

31) el o 9 ) @A Tecdd 9@ o) JIE e 99 8) TE eed g ad
47) What is the cause of the revolving of celestial bodies around the Sun ?
a) Gravitationa force of the earth ~ b) Gravitational force of the heavenly body
c) Gravitational force of the Sun d) Gravitaional force of the planets
¥¢) T3TSiehe HME Wieiletdeh! hIvTedT IS el ?
31) IHTregIHINGD q) =g %) el IfEeT g8 §) TfaAtearstl
48) Who among the following invented airbeak?
a) Otto Von Guericke b) Newton c) George Washington House d) Gallilio
¥R) T & UM Wreficrdshl hivRdt 3718 ?
1) wfem q) AW F) AT ) ATAh! ATE

49) Pressure is a ----- quality.
a) Vector b) Scalar c¢) Fundamental d) None of these
40) ETcHeIeh! hid Jahld TS HIISHT ?
) == @) i W) @falmEr s) snfyEn A
50) Where was a magnetic stone found?
a) China b) Greek c)Magnisia d) Asia Minor
43) T &1 fAfsha g hie amaara ?

31) fhemea ¥) HH aIEH TeauaEdl %) TR gifesiat g) faem seemsa

51) Where does an inert gas argan use?

a) In refrigeration b) To obtain minimum temperature
¢) On hordings of advertisement d) In electric bulb
4R) YA B Teheh WTetlelie, IV 3718 7

31) Iorr 3t &) feregm 3t %) TEEHES 3T ) ATl I
52) Joule is the unit of ----.
a) Heat Energy  b) Electric Energy c¢) Chemical Energy d) Mechanical Energy

u3) C*H® = afifer arr=sn wehrr e it ?
) ) 399 %) WU ©) fasm
53) What is the chemical name of C’H® of natural Gas?

a) 60 years b) 66 yearsc) 70 years  d) 76 years
uY) fosria @refiedshl sHivmr e arEdrd ?

) 3 A ¥) &7 A ) sEledl A T) TRy O
54) Which of the following cells are used in the torch?

a) Dry Cell b) Button Cell ¢) Volta's Cell d) Laclanche Cell
LY) LETITAT SATITe! Soiedieh ofct WIHeTdehl IV STefl aTaid ?

3) gell 9 "r@edt 9) WIRee goshugl &) faga gee ) Aramhdl 99
55) Which of the following reasons is to ring the electric bell of the door?
a) Pulley and Chain b) Powerful bar magnet c) Elecromagnet d) Horseshoe magnet?
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Y& ) ETCeTdeh! ShIvTeT ITERH STUfaseh feara migar Al ?
A)Teed  F) A h) AT T) TR
56) Which of the following scientists did not propose in atomic theory?
a) Dalton b) Newton c) Thomsom d) Rutherford
49) STUGHHTEH G IcTdeh! ShIVICT & GRIfadrd ?
) X §)Z %)B 3) A
55) Which of the following letter denotes atomic number?
a) X b)Z ¢)B d)A
L¢) HEH TEUIST ek I JAGSATT TT hIvTdT ?
Aq) Waer  9) @1 &) Fw@1  ¥) wew
58) What is the colour of sulfer?
a) Yellow b) Blue c¢)Black d) White
uR) Wieierdshl hIvTdT 8 UTvaTd forEesd ATa ?
31) Iifeas 5) fem %) HEISHIIILES T) ToHESH ATFEsS
59) Which of the following gases do not dissolve in water?
a) Oxygen b) Methane c) Cabondioxide d) Sulopherdioxide
§0) TETd - SEUIR YeAged hivrd ?
A IH  F) W H) WARRW  8) Al
60) Which element of the following is different from others.
a) Gold Db) Silver c) Magnesium  d) Mercury
§€%) ——- o IcUTEH HIUITETS! FEHT JT9R HidTd.
H) FeehlEd ) A %) AMFRISH ) TRAGIFAND T+
61) Yeast is used to produce -----
a) Alcohol  b) Suger c¢)Oxygen  d) HCI
§3) Wielicdshl shivrdT yere 3ifd Saramrgl 31R ?
F)fega@ @) Am &) Toha g) U
63) Which of the following substance is most highly inflammable?
a) Diesel b) Naptha c) Kerosene d) Petrol
£3) IFoiict 9l Wicficrdehl ShIvTeaT TRTET SYHIT ShIdTd ?
) WM §) TR h) AFgMtEm g) I
63) Which of the following wire is used in Refridgeration?
a) platinum b) Tungstone c¢) Aluminium d) Copper

&Y) Weiietdeshl hivreaT faehoft ararerem=n g daid il 318 ?

) Wl §) GUGfRATIeN %) YSHIEN ) Ydd fIRateR

64) Which of the following place has the lowest atmospheric Pressure?
a) on the sea b) on the sea cost c) on the plateau d) on the mountain

g4 ) HIBITAT HIVCAT TR el TRl Tdid AT 378 ?
) fomge @) ofymRes) fdigma ) de

56) Which type of coal has the highest % of carbon?
a) Lighite  b) Antrhasite c¢) Bltimunous d) Peet

&%) Ul Gieamed €0 % AT IMHTERI T 30 % Tleh HIHTER! Javl Udat. $4% Tl Gl T Aol
UAT!. S TRV }§ b JUFCAT BN, T ——— Al ThTal TR Gl Haet gl
3) 20 9) 24 +) 26 g) 30

66) In a hotel 60 % people had vegetarian lunch And 30% of people had non-vegetarian lunch and 15 %
of the people has both types os lunch. If 96 people were present there, then ---- people did not eat any
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type of the lunch.
a) 26 b) 24 c) 26 d) 30

€\9) TShT HIUTETH Tsh HIST 37TV Teh TMESil 3000 FIATH G e A, R0 TR HIST a . L0 dqreaH et
forheft TR SHFENIE . I THI 1. T TS GG fohd fohdt $02 1@ ?
37) 2200 o) 2400 %) 2000 $) 1200

67) A man bought a horse and a carriage for Rs 3000/-, he sold the horse at a gain of 20% and the
carriage at a lose of 10% there by gaining 2% on the whole . The what will be the cost of the horse?
a) 2200 b) 2400  ¢) 2000 d) 1200

&¢) Tl aTidie gy faeneate qued a9 ¢y Oy 1R, e y faeneate gued 99 ¢ 9N TR, qus camehl §
forenete TUEd o 28 9N 3. T e L4 =1 foreneat= o fopdt v s« ?
) 11 ) 14 +) 15 g) 15.5

68) The average age of 15 students of a class is 15 years. Out of these the average age of 5 students is 14
years and that of other students is 16 years. then what is the age of the 15th student ?
a) 11 b) 14 c) 15 d) 15.5

€R) At £33 Tt A 890 . Ta WTEE g8y H. TG wiew fohdl Tehara TS ?
H) 7 9) 8 ®) 7.5 g) 8.5

69) A train 110 metres long is moving at a speed of 132 km/h. Then how many seconds does it take to
cross a platform of 165 metres long?

a) 7 b) 8 )75  d)8.5
190) TehT ThHH! Tshdle SATATAT U  ANTE TF 30% T 37T ¥ auffi T R2E T I T et feheht ?
3) 1240.50 ) 1860.48 %) I¥40.33 g) 1820.44

70) The principal of a certain amount by compound interest for 2 years is Rs.2304 and Rs 2913 for 4
years, then what will be the capital?
a) 1240.50 b) 1860.48  c¢) 2450.33 d) 1820.44
\6%) TohT S At 24 % Tg T gE= aqea FRAdiaia 0% e 99 STHeA™ o FeAl
Tepwcht fordt sTarciel
31) 40,20 ) 60,40 %) 80,60 ) 60,40
71) A discount of 15% on one article is the same as a discount of 20% on an another article. Then what
will be the cost of both the articles?
a) 40, 20 b) 60, 40 ¢) 80, 60 d) 60, 40
WR) 72, 18, 16, 14, 15 31 TN Teade fohet ?
31) 18 ¥) 27 %) 11 €) 16
72) What will be the mean of the scores 72, 18, 16, 14, 15?
a) 18 b) 27 c) 11 d) 16
\63) THT FAhIUI=A SIS STIRH R:3:¥ AT YHONG 37ad. Frepmorerh uftfirdt ¢ 3mg. @ e fomdt a9
1hH ot it ?
) 4812  ¥) 4,86 %) 6,8,4 ¥) 4,6,8
73) The ratio of the three sides of a triangle is 2:3:4. The perimetre of the triangle is 18 cm. Then what
will be the three sides of the triangle respectively?
a)4, 8, 2 b)48,6 ¢)6,84 d) 4,6,8
oY) T AT UThT 3¥ 3T AreATHEfiel BehreAT St fhud ]2 oM. W HeEeA an s fohd
ITEA?
A) 90  F) 120 ) 160 €) 200

74) The product of two numbers is 34 and the square of their difference is 92, then the sum of their
square is ---.




a) 90 b) 120 c) 160 d) 200

bY) TH AR TH TEATET TUTHR ¥¢ 3R, X 1 AT Shivre ?
A) &,¢  F) 124 H) 24,2 SRIECIK ]

75) The product of two consecutive even number is 48, then what will be that numbers?
a) 6,8 b)12,4 c¢)24,2  d) None of these

&) TehT =Tl Uit wo Tt o1 ; d I =R &mwhes ST gt e TR fehet ?

3) 1:6 ¥) 2:5 ) 16:1 g) 5:2
76) The perimetre of a square is 40 cm. Then what will be ratio of the area and the perimetre of the
square?

a) 1:6 b) 2:5 c)l6:1 d)5:2
o) 9x%-4(y+2x)> = T HIvId ?

1) (Tx+2y)(x-2y) q) (Tx+2y)(-x-2y) ) (Tx-2y)(-x-2y) ) (Tx-2y)(-x+2y)
77) Y TR 3Tea 9.

Factorise 9x*-4(y+2x)" .

a)(7x+2y)(x-2y) b) (Tx+2y)(-x-2y) c¢) (7x-2y)(-x-2y) d) (7x-2y)(-x+2y)
78) (2a+5a)(4a*-10ab+25b%)= ?
a) 8a™125b° b) 8a*+125b° c) 20a>5b° d) 8ab’+125a’b

%) (Fanrg) % dem 7 v s

1 1 (x-3)
NI NVeE o P S )
_ x’-27
79) What will be the short form of 349

1 1 -3
MDD EE 9w D)

¢0) 4/x+/\/52+ , 144 = 16 T x =t TopHq femet ?

3) 250 ¥) 262 %) 248 T) 64

80) 1/ac+4/52+,14 =16 then x =7

a)250 b)262 c)248 d) 64
AT : TTETAT ST SHIVAT 37 3THA ¢

Directions: Which number would replace question mark in the series.
81) 81,100,121,144,169,?
A) 225 B) 215 C) 200 D) 196
82) 12, 32, 72, 152,?
A) 312 B) 325 C) 515 D) 613
AT : STHATehd A JEIA 3Heh hIvAT 3THA 7
Directions: Which will be the next number in the series.
83) 63, 83, 113, 153.

A) 53, B) 173 C) 193 D) 303
84) 3, 10, 29, 66, 127.
A) 64 B) 125 C) 169 D) 218

AT : Y=g AT Shivrar 37eh 3T ?
Directions: Which number would replace question mark in the series.
85) LXF, MTJ,NPN, OLR,?
A) PHV B) PIV C) PJW D) PKX
86) Z, L, X1, V, HH T, F, 2, ?




A)R,D B)R,E C)S.E D) Q,D
A1 - A g e
Dirctions: Find the correct alternative.
87)t-prtd-dp-td-dpr-d
A) tdptr B) dtrtt C) tdrtr D) rtdtd
¢¢) TS AT I Thele] AT SFERART TS G IAA[he I dTdd &R I ?
88) Which letter is seventh to the right of the eighteenth letter from the right end of the alphabet?
A)K B)O oOP D)R
¢R) & hATIoToha 18 Tohell U 1TEd foh ST AT @G 3 3T W o Lo TR
89) How many 5's are there in the following sequence which are immediately followed by 3 but not immediately preceded

by 7? 8953253855687335775365336738
A) One B) Two C) ThreeD) Four

R0) ITe3T T TME.

90) Find the one which is different.
A) BEHK B) CRUM C) KNAT D) ORUX

R?) foReTR IThe R0 firet =Terdl. df Aot STefehe Fesal ST Y0 firex =merdl. df IraT Seiehe sl ST 20
fiet Treal. 4e a1 IoEiehe degd 20T =Ml T W= e fSshmmamEd fehdt g 311z,

91) Kishor walks 20 metres North. He then turns left and walks 40 metres. He again turns left and walks 20 metres. Further
he moves 20 metres after turning to the right. How far is he from his original position?
A) 20m. B) 30m C) 50m D) 60m

R3) I wi fAaer.  gehel : e : : Rl ;7
3) IT ¥) I 9N *) MSBT HU 3) @

92) Choose the correct alternative. Push: Pull :: Throw: ?

A) Pick B) Jump C) Collect D) Game
23) g JoY: ¢ MG - ? Sorrow : Death :: Happiness : ?
A) Love B) Dance  C) Cry D) Birth

31) I I HIWE T A
94) If i) P is taller than Q
ii) R is shorter than P
iii) S is taller than T but shorter than Q.

Then who among them is the tallest?
A)P B)Q oS D)T

15[5[2]9] A) 11 B)6
%) Me2[3271©3 D)2
61348

96) I&Td SAThcTd fehclt =Tehi 3TTad 7
) 12 I3 W6 B)17

R&) How many squares are there in the following figure?
A) 12 B)13 C)l6 D)17

97) I3 Tergrean Swft Shivrar 37 318, 165 220 533
3)320 §)274 H)262 8) 132 @
97) Which number would replace question mark in the series.
A) 320 B)274 C)262 D)132 2 34
R¢) eI ATl IV IFHA o et

98) Find out the next figure from the four options.
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RR ) TehT Tiehideh WG WECW B 330WE 38 foafgel STa X I Tiehias wNd 3uwLie Ha fafza S8 ?
37) I ) IS U F) M3 HU 3) WS

In a certain code Language 24687 is written as 33776. How is 35791 written in that code?
A)44826 B)44880 C) 46682 D) 44682

100) 2:¥0 fafiert am wrer a fifie e Jreame @Teli HIvdT S 378 ?
) 150° ¥) 160°%) 140° g) 35"
Which of the following angle is between minute hand and hour hand at 2:40 ?
A) 150° B) 160’ C)140° D)35°

20%) HIAT AT TR WTeTdeh! HIVAT THTS STSEET STl ?
) A ) B %)AB  8)O

101) Which among the following blood group is known as the 'Universal doner'?
a)A b) B c) AB d) o

%0R) ShiadT TS IT HIVCT WeaTeil Felfera Tad ?
) gEy §) defed &) HE T) Hegl

101) To which game is Kavita Raut relataed?

a) running  b) Badminton c¢) Tennis d) Kabaddi
203) T Feg AT IH IS T ?

) WA ) it ®) FIMFR ) T
103) Where did Gautam Buddha born?

a) Sarnath  b) Lumbini  ¢) Kushinagar d) Gaya
R0Y) “foriferr et Weft| wefifer feft reft) Frefifermn et weft| wrelifer o et wae wR el wehn srfeR el

39 foem =it Hige g ?
3) WE WS §) qheN HeRN &) HEIHT ol ) AR, ol HeSH

104) 'Viddhe vina mati geli, mativina niti geli, nitivina gati gele, evade sagle anarth eka aviddhene kele'.

Who of the following has expressed the above thoughts ?
a) Shahu Mahara;  b) Tukdoji Maharaj ¢) Mahatma Gandhi d) B.R. Ambedkar
%0Y%) HEATIS B HIUTE SIYUMTT B ?
37) T. . TSH 9) o gerem %) Miawdw  ©) faar Rraews
105) Whose nickname is Kusumagraj?
a) R.G. Gadkari b) V.K. Madgulkar ¢) G.V. Karandikar d) V.V. Shirwadkar
208) TR &l A 7= fEgrean garn’ 31 e oigeh hivr 3T1Rd ?
37) T TG IEHCEH &) HEHIG Shald o) hal TMaie §) T HgFAGSTA! ST
106) Who is the writer of the song 'Sare jahanse accha, Hindustan hamara.'?
a) Sir Sayyad Ahamadkhan b) Mahammad Igbal c¢) Poet Galib d) Mahammad Ali Jina
20) ATTHETA IV TATd TR 7
) gy §) fagns) sawigw ®) fog
107) In which state is Tajmahal?
a) Madhyapradesh b) Bihar c¢) Uttar Pradesh d) Delhi
20¢) TS S v [Megia 31 ?
) T F) HTEIEH) TS §) AR
108) In which district is the birth place of Jijau?
a) Jalna b) Auragabad c) Raigad d) Buldhana
%0R) HIUIHRT HIYA TR T8RS i ?

) Hgal Wiew Ife F) Hedt olle e F) Hew T e 3) Ak Al
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109) In computer language What is meant by CPU?
a) Central Power Unit b) Central Plot Unit
c¢) Central Processing Unit d) None of these

%20) O W@ A FeaTd heal el ?
) 2R¥R ) 2R20 &) 2% 3) 2’4R
110) When did 'Quit India' movement start?
a) 1942 b) 1910¢c) 1947  d) 1952
922 TraTsit HERSIAT TSN R TEE Sl ?
) T 9) R &) Fee ®) ws
111) On which fort Shivaji Maharaj was coronated?
a) Rajgad b) Shivneri  ¢) Shinhagad d) Raigad
993) ‘WSS Feagd’ 7 gEash Siof fofee 7
) TR MER  F) Hd MSHeren W) T foeshg ) HEeHT SAIAE Bt
112) Who has written the book 'Sarvajanik Satyadharma'?
a) Mahatma Gandhi b) Saint Gadgebaba
¢) Swami Vivekanand  d) Mahatma Jyotirao Phule
%23) HENIEE AT IV 3718 ?
31) TRaT §) et %) AUl g) g
113) Which is the folkdance of Maharashtra?
a) Garba b) Nautanki c¢) Lavni d) Zumar
32%) fega 3om=n sy SN smeRe @re ?
H) I IS ¥) Teae %) TSIoE 1S9 ©) Hel o
114) Who invented dissel engine?
a) John Beard b) Edward c) Rudaulf Dissel d) Fredrick Dissel
34) HIHEH HITSAT ICATEATETS! IFEH TR,
37) g F)q®E  FH) AR T) WITN TS
115) Kalgurli is notable for ------ production.
a) Gold b) Wine c) Silver d) Valuable stones
928) TR B &L HIVAT TSATe Tqerl 3778 ?
37) IO T ¥) AMTefs &) feim ) mEm
116) Itanagar is the capital city of ---- state.
a) Arunachal Pradesh b) Shivneri c¢) Shinhagad d) Raigad
92\) WRAT Ufeet STAUSHR HIv Bid ?
o) W T @) TR A @) gww ) o
117) Who was the first austronout of India?
a) Rajesh Sharma  b) Rakesh Sharma ¢) Suresh Sharma d) Lokesh Sharma
22¢) ‘91 ShamEcaTsIvTe @iefierdeh! v I gral ?
A)  HE 9) Theal ) T@AEIRSIN ) TG T
118) Which among the following disease causes due to lack of vitamin A?
a) Beriberi  b) Scarvi c¢) Nightblindness d) All the above
9%R) I TS B 7
H) FATELS U AMHIRHIHA o) JFREA ¥H 36 A
%) FATIES AE IANAIRSH ) ATUeh! el
119) What is the long form of UNO?
a) United Nepal Organisation b) Union Nation of Oman
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¢) United Nations Organisation d) None of these
$30) THfET & U Hivlt ffzen o ?

) foAen @ §) " B %) TETeHT Meft g) gehers! HERN
120) Who wrote the famous book 'Gramgita'?

a) Vinoba Bhave b) Mahatma Phule = ¢) Mahatma Gandhi d) Tukdoji Maharaj
9R%) METTEHE HIvTAT AR ITEAT ?

AW ) fHm ®) W T) YA
121) Which gas is there in the gobergas?

a) Ethane b) Mithen c) Propen d) Buten
93R) HIeTSTT MY HIV AT ?

) W R F 9) fod e &) urh wreRer ®) A W
122) Who invented mobile phone?

a) Martin Luther King  b) Bill Gate ¢) Mark Zakarburg  d) Martin Kuper
2R3 ATYHN HISUATHTS Wefietdeh! e a9t HidTd ?

) WX 9) hodmdl  F) TESHIR ) oM
123) What is used to measure the temperature?

a) Barometre b) Calorimetre  ¢) Speedometre  d) Thrmometre
Y HENIE Ufget Geamst vl gid ?

H) IHAQE A ) IS g ) FHAUS g S) GUTHWE A5k
124) Who was the first Chief Minister of Maharashtra?

a) Vasantdada Patil  b) Yeshwantrao Chavan c) Vasantrao Naik d) Sudhakarrao Naik
2RY) TEFTRT 0T SHIvTeAT TEeR 3R ?

H) QRN F) AGEM ) GO ) WHTE
125) On which river is the Radhanagri Dam?

a) Dudhaganga b) Vedganga c¢) Dhamni  d) Bhogawati
838 ‘foreres faea’ &1 g wrofl foafeen ¢

31) TfEtas $oi &) fOegar dustes ) MUTeE JeiThl ) HEeHT Bl
126) Who has written the book 'Vital Vidhawansh'?

a) Savitribai Phule  b) Dr. Saheb Khandare c) Gopal Valankar  d) M.M. Deshmukh
936) —-—— BT AT U HGEA=T TRITHT Heh 3TTg 7

) yuId gt 9) fgmaw %) Segruftvg ) amd=md
127) ---- is the fundamental element of the panchayatraj system?

a) panchayat samiti  b) vidhansabha c) jilha parishad d) grampanchayat
9¢) Y TY Gu™ GEITTH HIS 3T ?

) AfRe @) dfm H) T ) A
128) Where is the headquater of United Nations Organisation?

a) Tokiyo b) Parish c) Heg d) New York
93%) =i TISIH IS 3 7

H) A@H W) FEAQ H) AAE Z) i
129) Where is the Champak stadium ?

a) Lucknow b) Kanpur c) Chennai  d) Kolkata
$30) WRATAT IV I9UE FHfweh aeisft Faia a1 ?

37) flrg de-¢ ) T &) Vg B) ot
130) Which of the Indian satellite is related to the agricultural aspects?
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a) Risort sat-1 ~ b) Astrosat  c) Aryabhatta d) Rohini
23%) ‘TRATSH TS 2 WITHTeh! i 318 7

37) foeam &) TuifeRivor - &) TR €) g™
$3R) WA Adeh! SHIvaT Ieg AT foreror T8 ?

) Ik fashdl &) AAW UQ ) SARE AE ©) g gorft
%33) i FIeed I Bdl. HIS INSET.

3) N ARl &) IO Yahles ) Taiyaepies  ©) Ul FauHehies
$3¥) et Uehl =hivrd g ATameff et ?

37) geart oE afgcrieh oI Weerdl. &) T WalaT gEh 34

%) Ht g HH HL. T) TaQ W HH H.
23y favehl ez, sfrsrer Hi ey e

1) gt ¥) Tat %) GelgH ) JomT
936) ‘Mg | = fowearefl weg ST,

) FEAA  9) Fdars #) e g) ombd
%3\) ISl g AV 316G TR T ?

) IPTRA 3T ) kAWt T W) WegANft T g) famiwur
$3¢) ‘PRI Hosdl AT JBHT AT FUiET 37 <hivrr ?

) U TEH! TR HLOd) I eI B Fievl.

%) IMME MW o7 figagur,  g) a%q T9ad:des 315d Ta e,
$3R) <dIYe Tad dad STEUINT fear =hivrar ?

o) wHg o) fewsardis) et ®) fou
2¥0) WG M 3esEl.

o) fearem @) wer®) & ®) W
141) Choose the correct alternative . Bibliography is ........

a) Knowledge of Bible b) List of book about Bible

c) Characters from Bible  d) List of books and writings of author

142) Give one word substitution for the following. The man who receives guests.
a) Host b) Guest c) Owner d) Master
143) Fill in the blanks with suitable articles.
Shivais ..... honest servant in .... firm.
a)an, a b)an,the c)a,a d) the, the
144) Who teaches you English?
Which of the following is the correct corresponding passive structure of the above sentence?
a) Whom is English taught to you? b) By whom are you taught English?
c¢) Is English taught to you by whom?  d) By whom do you teach English?
145) Very few men are as generous as he is. Change the degree of comaparision.
a) He is the most generous man. b) He is one of the most generous man.
¢) He is one of the most generous men. d) He is one of the few generous men.
146) Everything seemed quite normal. Choose the correct exclamatory expression.
a) Everything is really normal! b) How seemed everything normal!
¢) How normal everything seemed! d) Normal, seemed everything!
147) Which if the following is nor misspelt?
a) leiftenant b) lieutenant c) liuetenant d) leftnant

“14=




148)She is a very attractive girl. Choose the alternative giving an opposite of the underlined adjective.
a) bad b) worse C) repulsive d) good
149) Choose the reported speech alternative: Meena said, " How clever | am!"
a) Meena said," | am very clever". b) Meena said she is clever.
c) Meena exclaimed that she was very clever. d) Meena said that she is clever.
150) Choose the alternative using 'No sooner than':  As soon as he entered , he removed his blazer.
a) No sooner did he enter than he removed his blazer. b) No sooner he entered, he removed his blazer.

c) No sooner he enters, he removes his blazer. d) No sooner does he enter, he removes his blazer.
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